
48 INCH PATIO CABINET
INSTRUCTION BOOKLET

Gently set parts on a flat, protective surface.

Please take safety precautions when using the patio cabinet.

Do not step or climb on the cabinet.

Do not let children near the cabinet.

Set the brake on locking casters unless you are moving the cabinet.

Make sure all doors are closed tightly before moving the cabinet.

CAUTION   

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION.
PLEASE READ AND KEEP FOR FUTURE REFERENCE.



Bar Shelf (1) Footrest Bracket (2) Footrest (1) Swivel Caster (2) Locking Caster (2)

1. Please read instructions prior to assembly.
2. Verify that there are no missing parts.
3. Keep instructions for future reference.
4. Recommend to have 2 people when assembling this cabinet.

 Please read completely through the instructions and verify that all parts listed are included before beginning assembly.

Patio Cabinet (1)

Side Handle (1) M8 Bolt (18+1) M5 Bolt (28+1) Bracket (2) Small Wrench (1)

Parts and Hardware List

GENERAL INFORMATION, TIPS & HELPFUL HINTS

Big Wrench  (1)



Caster Assembly Instrutions

Hardware required

Swivel Caster

Sketch QTY

Locking Caster

M8 Bolt

Big Wrench

(2)

(2)

(16)

(1)



Footrest Assembly Instructions

Attach the footrest bracket to the bottom of the cabinet with M5 Bolts. Then insert footrest into the footrest bracket.

Hardware required

Footrest Bracket

Sketch QTY

Footrest

M5 Bolt

Small Wrench

(2)

(1)

(12)

(1)



Interior Shelf Assembly Instructions

The interior shelf can be adjusted according to your desire according to below figure.



Handle Assembly Instructions

Stand the unit upright and attach Side Handle to Patio Cabinet securing with M8 Bolts as shown in below figure.

Hardware required

Side Handle 

Sketch QTY

M8 Bolt

Big Wrench

(1)

(2)

(1)



Hardware required

Bracket

Sketch QTY

Bar Shelf

M5 Bolt

Small Wrench

(2)

(1)

(16)

(1)

Bar Shelf Assembly Instructions

Attach the brackets to the Bar Shelf and then attach the Bar Shelf assembly to the patio cabinet.
Bar shelf can be installed to overhang. Position the screw mounts so there is an overhang on the backside of 
the bracket. 



1831-A West Oak Parkway, 
Marietta, GA 30062 

Phone: 1-888-880-3267

Casa Nico Inc.

If a problem cannot be remedied or you are experiencing difficulty in installation, please contact 
the Service Department: 888-880-3267, we open 24 hours a day, 7 days a week. Please call the 
Service Department if an electronic copy of this user manual is needed.

TMCasa Nico

CN


